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Time : 3.00 hrs
PART -1
Choose and write the correct answer ; 15x1=15

l. Zimc s obtamed from Zn by .7

ay Carbon reduchion. b) Reduction using Silver  c)Electro chemical process  djAoid Leaching
2. Which of the followmg plot gives Ellingham diagram..?

A ASVsT by AGY Vs T c} AGY Vs i d) AG* Vs T?

3. The metal oxide which cannet be reduced to metal by carbonis...7

a) PbO b} Atk ch Zntd djF e
4. The basic structural umit of Silicatesis...7 a) (Si03) b) (8104)% o) (&10F d) 81004 ¥+
5. Which among the following 1s not a borane 7 a)BaHs BiB:Hs - c)BaHio d) Nome of these
6. Among the following which is the strongest oxidigmg agent 7 a)Cla B)F2 ¢)Bn djTa
7. When Copper 1s heated with Conc. HNOs 1t produces. ..

ACU[NOs), NO & NO;  b)CulNOsk & N:O© c)Ca(NOsk & NO: djCu(NOsk & NO
& Sohd COq1s an example of .Y a)Covalent Solid byMetallic Sohd ciMolecular Sclhid  dilomce Sohd
9. The vacant space in BCC Lathce umit cellis.? ap&% by23% ci32%  dy26%
&, The addition of'a catalyst durimg a chepical reaction alters which of the followmg quantibes?

a) Enthalpy b} Activation energy c) Entropy d} Internal energy
Il Tf 75% of a first order reaction was completed m 80 mm , 50% of the same reachon under the same

conditions would be completed in...7  a)20min B)30mun c)35min d}75min

I 2. Om reachng with neutral ferric chlonde , Phenol gives .7

a} Red colour byViclet colour c)Dark green colour  d)No celourabon
13, (CHap—C - CH{OH)CH:  Cone. HaS0e X { Major Product ).

aj(CH; s — C— CH=CHa b} (CHsh— C={CHzh

c) CH;=C{CH;)H,CH,CH; d} None of these

4. Which one of the following undergoes reaction wath 50% Sodium hydroxide solution to @ive the
correspondmg alcohol and acid... Y a) Phenyl methanal b) Ethanal c) Ethanc! d) Methano!

I 5. The formation of cyanchydrin from acetone 1s an example of....7
a} Nucleophilic substitubon b} Electrophilic substitution

c) Electrophilic addition dyNucleophilic addibion
www waytosuceess.org 1 wisteami@email com
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PART —1II

Answer any Six questions. { Question No. 23 is Compulsory ) :-
L& Give the limitations of Ellingham diagram?

17. Give the structure of COand CO. 7

18. What isinert pair effect ¢

[2. Write the Brage's equation ?

20. Calenlate the number of atoms ina FCC 7

21. Define half Tife of a reaction?

22 Horwr 13 ethane- |, 2-dic] prepared from ethane ?

23, How will you get P —hydroxy azo benzene fromm Phenc] ?

24 Write the decarboxylation reaction ?

PART —III
Answer any 5ix questions. { Question No. 32 is Compulsory ) :-
23. Describe a methad for refining Micke] 7
26. Howwr will you conyert Borle acid to Boron mitride ?
27, Give the uses of Helmm ?
28. Explain Schottlcy defect..?
29 Explain Pseudo first order reaction with an example 7
30. Differentiate Ordet of a reaction and Molecularity of a reaction ?
31. Write the test for Phenol ?

32. Mdemify A B, € and D7 ethaneicacid S0CL o A Pd/BasCa, B NaOH ._C

bx2=12

6 x3=18

33. How will you get Betizaldehyde from Benzene .7
PART -1V
Answer all the (Questions:-
34. a)Explain Zote refining Process ? b) What is Aute reduction ? Give example ?({ OR )
Writethe Silicones Preparation , Structure and Uses 7
35. Deseribe the Structure of Diborane ? [OR)

a1What are interhalogen compounds? b) What 1s Holmes Signal ?

3x5=125

36 Calenlate the percentage efficiency of packitg in case of body Centered Cubic Crystal ? [ OR )

Derive integrated rate law for first order reaction.?

37. How 15 the fellowing prepared from Phenel ? 1) Pheholphthalein i) Salieyladehyde 1ii) Piericacid [ OR )

a)Write short note on Aute exidation of ethers? b)) What is Willlamseons Syothesis?

38 a) Writethe Cannizare reaction 7 b) What s Urotrepine 7 Write the Structure and Uszes? | OR )

W,\&Fﬁéﬂﬁﬂ@ﬁ{ﬁﬁg’eammﬂ - ) Esterfication  b) Glaisen Condensation.

wisteami@email com
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CHEMISTRY
Time: 3.00 hours Part -1 ' Marks: 70
I. Choose the correct answer: 15x1=15
1. Galenais
a) PbS b) ZnS c) Ag,S d) FeS
2. Indiborane the number of electrons that accounts for banana bond is
a) six b) four c) two d) three
3. Among the following which is the strongest oxidizing agent?
a). Cl, b) Br, c) F, o d) L
4. The most common oxidation state of actinoids
a) +2 b) +4 c) +3 d) +6
5. A complex in which the oxidation number of the metal is zero is
a) K Fe(CN);J] b) [Fe(Co)gl c) [Fe(CN);(NH,),] d) Both (b) & (c)
6. Anexample of metal defect
a) NaCl b) CsCl c) AgCl d) Fe8
7. The rate constant of a reaction is 5.8 x 10~2 s~1. The order of reaction is
a) first order b) second order ¢) zero order d) third order
8. An example of basic buffer is o '
a) NH,OH and NH,CI - b)- NH40H and NaOH
c) NaOH and NH,CI d) NaOHand KOH -
9. Among the following cells . ;
i) Leclanche cell ii) - Nickel-Cadmium cell
iii) Lead Storage battery iv) Mercury cell
Primary cells are . '
a) iandiv b) iiiandiv c)landii d) iiandiii
10. fog Is colloidal solution of
a) solid in gas b) liquidin gas c) gasingas d) gas in liquid
11. On reacting with neutral Ferric chloride phenol gives
a) red colour b) dark green colour
¢) violet colour d) no coloration
12. The reagent used to distinguish between acetaldehyde and benzaldehyde is
a) Tollens reagent b) Fehling’s solution
~ ¢) 2, 4-dinitrophenyl hydrazine d) Semi Carbazite’
13. The produiet formed by the reaction of aldehyde with a primary amine
a) carboxylic acid b) aromatic acid c¢) schiffsbase  d) Ketone
14. In a protein, various amino acids linked together by
a) peptide bond b) dative bond
©) w-glycosidic bond d) P-glycosidicbond
15. Which of the following is an analgesic?
a) streptomycin  b) aspirin cJ“ chloromycetin  d) penicillin
- Part -
ll. Answer any 6 questions. (Q.No.24 is compulsory) 6x2=12
16. What is inert pair effect?
17. Give any two differerice between double salt and coordination compounds.

ail. com
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18.
19.
20.
21,
22.
23.

24.

(18
25.
26.
27.
28.
29,
30.
31.
32.
33.

V.
34.

35.

36.

37.

38.

(2)

What are the uses of boric acid?

Draw the unitcells : a)FCC  b) BCC
Distinguish between Lewis acid and Lewis base.
State Faraday's first law.

Write a note on electro osmosis.

How do antiseptics differs from disinfectants.
Draw the structure of zwitter ion.

Part - lil

Answar any 6 questions. (Q.No.33 is compulsory)
What are the differences between minerals and ores.
What are the reasons for the anomalous properties of first element of p-block.

What is Lanthanide contraction and what are the effects of Lanthanidg contraction:
Write a note on Frenkel defect.

Write Arrhenius equation and explain the terms involved.

What is Henderson equation.
What are promoters and catalytic poison? Give example.
Write short notes on Gabriel phthalimide synthesis.
Convert glycerol to acrolein.

Part-IV'

Answer all the questions.

a)

b)

b)

b)

i)
i)
i)
i)

Write short notes on zone refining. . [3m]
Define slag flux. [2m]

_(OR)
Explain the structure of Diborane. - {3 m]
Which is more stable Fe®*.or Fe?*. Explain,

Wnte the postulates of Werner'stheory. [Sm] .

i)
i)

(OR)

Xl Chemistry

6x3=18

5x5=

[2m] .

Describe the preparation of potassium dichromate.
[2m].

What is chromyl chloride test? Give equation.

Distinguish between physisorption and chemisorption.

)
i)

(OR)
Derive Ostwald's dilution law. [3m]

[3m]

[5 m]

25

Write the cell representation of the galvanic cell in vmlch the following reaction

takas place «
+ CUSU4 - Zn304 + Cuis} [2m]

Gunvart Jne following :
Phenol - Picricacid  2) Glycol — Dioxane

1)
J)

What is Mustard oil reaction. [2 m]
(OR)

Differentiate 1°, 2°, 3° alcohol by Victor Meyer method.
Elucidate the structure of glucose. [Sm] (OR)

)
i)

What are drugs? How are they classified?
Write a note on vulcanization of rubber.

e e
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[2m]

[3m]
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TIRUFFUR

First Revision Test - 2023

PﬁH‘.T |
Note : |) Answer all the gquestions. li) Choose the most appropriate answer from tha gliven four nltumutius
and write the option code and the corresponding answer ' 15x1=15
1.

13.

14,

15.

16.
17.
18.

The incorrect statement among the following is

a) Nickel is refined by Mond's Procéss b) Titanium is refined by Van Arkel's Process.
e) Zinc blende Is concentrated by froth floatation d) In the metallurgy of gold, the metal is leachedwith dilute
sodium chloride solution. . : ’ -
Inorganic benzene is .
a)B,H, b)B,N,H, c)HBO, d)HBO,
Assertion : bond dissociation energy of flourine is greater-than chlorine gas.

" Reason : Chlorine has more electronic repulsion than fluorine.

a) Both assertion and reason are true and reason Is the correct explanation of the assertion.
b) Bpth assertion and reason are true but reason is not the correct explanation of assertion.
c) Assertion is true but reason is false. d) Both assertion and reason.are false

- CH,-CHO +CO Rh/r numplex ?

a) Pul:.r propylene b) Butane -1 - al c) Acetic acid d]A-::ﬂtuna

Which of the following is paramagnetic in nature?

a) [Zn (NH,)J** b) [CONH,)*  c) [NIH,0),J* d) [NIlCN), )

Packing efficiency of body centred cubic unit cell.

a)52.31% b)68% c)86% d)52.13% E

If 75% of a first order reaction was completed in 60 minutes, 50% of the sama reaction under the same
conditions would.be completed in  a) 20 minutes b) 30'minutes ¢) 35 minutes d) 75 minutes
Which of the fn!!uwmg is not likely to act'as Lewis base?

a)BF, b)PF, c)CO d)F

How many Faradays of electricity are required for the forlowing reaction to occur MnO, — Mn**
a)5F b)3F ¢)1F d)7F . .

. Hair cream is

a) gel b) emulsion ¢} solid sol d) sol

. Williamson synthesis of preparing dimethyl ether is a ' PN '

a) SN' reaction’ bi) SN? reaction. c) Electro philic addition d) a1actmph|iic substitution -
CH,Br KCN (A) H, D (8) PC!, {C) Product (C)is

a) acetyl chlorids b) chloro acelic acid ¢) @ - chlorocyano ethanoic acid d) none of these

The product formed by the reaction of an aldehyde with primary amine

a) sarboxylic acid b) aromatic acid c) Schiff's base d) Ketone .

The number of SP? and SP? hybridised carbon in fructose are respectively. -

ajtand4 b)4and2 c)S5and1 d)1and5 : \
Which one of the following is a bio-degradable pulymer?

a)HDPE b)PVC c)Nylon 6 "d) PHBV

PART -1l

Note : Answer any six questions. Question No.24 is compulsory. i 6x2=12
Give the uses of zinc. .
What is inert pair effect?

What are interhalogen compounds? Give one example.

: 12 - Chemistry - 1
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19. Write IUPAC name of the following ligand. ) C,0 b)H,0
20. Write two differences batween rate and rate constant,

21. Define equivalent conductance.

22. Write a short note on Gattermann reaction, |

23. How is terylene prepared?

24. Inthe reaction C,H,OH PCt, X alc HOH\ Y findXand Y

PART -1ll

Note : Answer any six questions. Question No.33compulsory. Ck3=18
25. Describe a method for refining nickel by Mond Process, '
26. How will you prepare bleaching powdar?
27. Give the uses of sulphuric acid.
2B. What are interstitial compounds.
29. Explain Schottky defect?
30. Calculate pH of 0.001 M HCE solution,
31. Write a note on electro osmosis.
32. Give three differences between DNA and RNA,
33, IdentifyA,Band C

CH,COOH SOC4, A Pd/BasO, B NaOH C

PART -1V
Note : Answar all the questions. . 5x5=25
34. a)i) Explain zone refining process with an axamﬁnar , 3
ii) How is potash alum prepared? : 2
(OR) i .
b) i) Write a short note on Holmes signal. 23
if} Compare the properties of Lanthanides and actinldas ; : 3

35. a)Write the oxidation state, coordination number, nature of ligand, Magnetic property and electronic configuration
in octahedral crystal field for the complex K, [MA(CN),] (OR)
b} i) Calculate the percentage efficiency of packing In case of body centered cubic crystal.
il) Write anote on Frenke! defect. : ;

36. a) i) Derive an expression for Ostwald's dilution law,

: ii) Define solubility praduct.
(OR)
b) i) Explain intermediate compound fumaﬁun theory of cntnlyuis with an example,
il) Write short nete on Tyndall effect. bt s

37. a)l) Explain Kolbe's reaction. '
i) What Is urotrapine? How will you prepare umtmphina‘? Write the uses of Urotrophine?
b) Write sHort notes on the following. )
i) Gabriel phthalimide synthesis. (2). il) Carbylamine reaction (2) Ill) Gomberg reaction (1)

MW R W

38. a) i) Derive an expression for Nernst equation.
ii) What are harmonas? Give examples,
(OR)
b) i) Write three test to differentiate alcohol and phenols. ' ' 3
ii) Write a note on co-polymers,

R W o= b MWK MW

12 - Chemistry -1
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Marks : 70

SECTION -1
Nuter 1) Answer all the 1quesliuns. 2) Choose the most suitabl
f0ws uiternatives and write the option code and the corresponding answer - BX1=1
Which of the fotiowing is used for concentrating ore in metallurgy?

o answer from the given

a1 Leachine b) Roasting ¢) Froth floatztion d) Both {a) and (¢}
i ot uf dhe Foviowing sons fias the same number of unpaired slectrons a5 presentin Y37 £
a) Ti" b) Fe” ¢) Nit , 4
Crystal field stabilization enerey for high spind3 octahedral complex is ;
©a) =004, b0 ¢) AP-4,) d) 2P+ g,
Assertion : rate of reaction doubles when the concentration of the reactant igoubles ifit s
first order reaction, ' %
Reason ¢ rate constant also doubles {
a) Both assertion and reason are true and reason is the correct u:-:pfﬂ;;_niﬂn of agsertion,
) Both assertion and reason are true but reason is not the gorrect explanation of assertion.
¢) Assertion is true bul reason is false. ]
d) Both assertion and reason are false. 1 ' ,
Equal volumes of three acid solutions of pH 1 24nd 3 are Mixed in a vessel. What will be the H*
ion concentration in the mixture? : '
N3T X7 by 10+ ghll.] e d) none of these
Lo calciun fluoride, having the flurite stiifcture the coordination number of Ca* fon and F* lon
are . |
a)dand 2 B) 6 and 6y, ¢8andd ~ d)dand$
Which one of the fallowing will reagt with phenol to give salicyladehyde after hydrolysis.
a) Dichloro methne  btsichlarbethane ) trichloromethane ) CO,
The carbonyl'compalund used in the manufactare of Thermosoftening plastic perspex is
a) Fomaldehyde  B) Acetaldehyde ¢} Benzaldehyde d) Acelone
“atch the following: :
A) Puneitrogen. i) Chloring
“,3) Haber process. iiy Sulphuric acid
\C) Cotact process. lif) ammonia
yD) Deacons Process. iv) sodium azide (or) Barium azide
“Which of the following is the correct option?
a)A-l Beii Coiii Deiv b A-fi Beiv C-1 D+ ¢) A<ili Beiv C-ii D41 d)A-iv Bii C-ii D
Wlien aniline reacts with acetic anhydride the product formed is |
a) 0 - aminoacetophenone, ' b) m-aminoacetophenone
¢) p- aminoacetophenong d) acetanilide,
The number of sp* and sp’ hybridised carbon in fructose are respectively
a) land 4 b) 4and 2 Osadl d)land3
The medicinal value of drugs is measured i terms of s
1) Deoxy ribose b)Goldnumber ¢ Therapeutic Index ) Equilibriom constant
Laptops have -

a) Lead storage battery  b) Fuel cell  ¢) Mercury button cell - d) Lithium ion battery

www . waviosuccess. org o SR RM 12 EM mm‘;x{ﬁ'tg{c'gégn@gmaﬂ.com
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16.
18.

19,
20.
2],

79
:
2.

24, -

25.
20.
217.,
28.

30.

)

3l.
32

-

33,

lad
LA

£F )

38..

- Answer all the questions =
34

Sodium salt of tetra boric acid is known as

a) BH, h) Nil,BUJ ) HHBG_I - ) NHIEJD"‘.IQ H.0 '
The correct order of the thermal stability of hydrogen halide is P
a) HI > HBr = HCI > HF h)HF = HCl = HBr > HI
¢) HCl = HF > HBr > HI d) HI = HCI > H{F > HBr

SECTION - 11 .
Answer any six questions and question number 23 is compulsory :- 6X2=12
Give the basic requirement for vapour pliase relining.
Write the electronic configuration of Ce** and Co®™, : |

Give an example of coordination compound used in medicine an example of biologically importany
coordination compounds, ' '
Distinguish tetrahedral and octahedral voids.

What do you mean by Buffer solution,

"r"r:h.ﬂl i1s called as Brownian movement.

Write Riemer Tiemann reaction.

Account for the following Ethylamine is soluble in water whereas aniline is not

Write a short note on peptide bond _

' SECTION - 111
Answer any six questions and question number29 is campulsory :- 6x3=18
How will you identify borate radical? '
What are the effects of lanthanide contraction? _
In an octahedral erystal field, draw the figure to shew splitting of d orbitals.
Show that in case of first order reaction, the time required for 99.9% completion is nearly ten
times the time required for half completion ofthe reaction. :
lonic conductance at infinite dilution of A and SO are 189 and 160 mho cm? equiv.
Calcu!at:: the equivalent and molar condudctance oftheelectrolyte A/ (SO ), at infinite dilution.
Describe some feature of catalysis by Zeolités: i i
How will you distinguish primary,secondary and tertiary alcohol using Lucas test.
Explain the mechanism of Cannizzaro reaction.
What are food preservatives?”™

SECTION - D

L0
-~
i
Il
I
L

(i) Explain the followifig terms Wil suitable examples. (i) Gangue (ii) slag (2)

(i1) Explain zone refining process with an example. (3) (OR)

(iii) Give the uses of silicongs. (2) (iv) Describe the structure of diborane. (3)

(1) What are interhalogen compounds? Give examples. (2) '

(1) Explain'the bleaching action of SO, (3) (OR)

‘»\friEE the postulatés.of Werner's lllcurj'. (3)

D’H'-"“'@“Tciﬂ_l_ﬁ_trystalline solids and awworphous solids. (5) (OR)

(iii) Define solubility product (2) -

(iv) Identify the conjugate acid base pair for the following reaction in aqueous solution. (3)

DS (ag)+ HF == F~(uq)+ H,S(aq)

WNHTCOT == NIy, 4 HHOO;

(i) Describe the construction of Daniel cell. Write the cell reaction, (3)

(1) Is it possible to store copper sylphate in an iron vessel for a long time,

Given : E v = ﬂ]qp and E'“: s s __,uqu-l_if (GRJ

(iii) Write a note on eleetro osmosis (2) (iv) Write a note on catalytic poison with an ex . (3
Find A, B, C. D & E 0815 (2) (1v) Wni ytic poison with an example (3)

i ¥ A
._.ﬂf.{i.'ﬁ*'ir_nf__;‘-h_!_fﬂ_””j NaMRIHCL o 1 VN 1y +H:O‘———3‘3mx E )
T 5 > -
i s

f_f._.'!}f) (i) Write anote nn.qunumrm ion ol proteins (2)
(i) How do antiseptics differ rrf)l'll disinfectants? (3) RM 12 EM Chemistey Paoe . ?
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Virudhunagar District Common Examinations (Y1111
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Standard 12

Time: 3.00 Hours CHEMISTRY Marks: 70

Part-1I 15x1=15

Answer All the questions, Choose the correct answer out of the following choices.

1)

2)

3)

4)

3)

6)

7)

8)

9)

10)

11)

12)

13)

14)

Elen.2nts like Zirconium and Titanium are purified by methad

a) heating under vaccum b) Van Arkel method

c) Zone refining d) electrolysis

Carbon atoms in fullerence with formula G, have

a) SP? hybridised b) SPhybridised  ¢) SP? hybridised

d) partially SP2 hybridised and partially SP hybridised '
Which one of the following orders is correct for the and dissoclation enthalpy
of halogen molecules?

3)Br,>1,>F, >, b) F, > €l > ¥r, > |4

c) 1, > Br, >Cl, > F, d)Cl, > Br, > r,
Equivaleni weight of KMnQ, in neutral medium is

a) 52.67 ' b)31.6 c) 158 d)58.4

IUPAC name of the complex K,[Al(C,0,),]is -

a) potassium tri oxalato aluminium (II1) b) potassium tri oxalato aluminate (I1)
c) potassium tris oxalato aluminate (III)  d) potaSsium tr) oxalato aluminate (I11)
The packing fraction of simple cubic unit cell is

a) 32% b) 52.31% g) 68% d) 74%

If 75% of a first order reaction was completed in'60 minutes, 50% of the
same reaction under the same conditions wauld be completed in

a) 20 minutes b) 30 minutes c) 35 minutes d) 75 minutes

.Relationship between the solubility product-and molar solubility for BaSO 4 15

a)s b) 25 7N ) 52 d) 252

Assertion: Pure iron when heated in dry air is converted with a layer of rust

Reason: Rust has the compostion Fe,0,

a) If both assertion and reason are true and reason is the correct explanation
of assertion

b) If both assertion and reason are true but reason is not the correct
explanation of assertion

c) Assertion Is true but reason is false

d) Both assertion and reason are false

Match the following:

A) Pure nitrogen - (i) Chlorine

B1  Haber Process - (i) Sulphuric acid

C) Contact Process - (iii) Armmania '
D) Deacons Process - (iv) Sodium azide (or) Barium azide

which of the following is the correct option?
A B &% B
a) () () (i) (iv)
b) (i) (v) () (i) :
c) () (v) ) @)
d) (i) @)y @)

Which of the following is used as surgical anaesthetic agent in surgery?

a) phenol b) diethyl ether  c) anisole d) none of these
The formation of cyanohydrin from acetone is an example of

a) nucleophilic substitution - b) electrophilic substitution

c) electrophilic addition d) nucleophilic addition

When aniline reacts with acetic anhydride the product formed is

a) o-amino acetophenone b) m-amino acetophenone

c) p-amino acetophenone d) acetanilide

Which of the following vitamins is water soluble?

wwwr way HRARIE s org  b) vitamin ko ¢) vitamin Avtsteandieitamindgm



16) What are the differences between minerals and ores?
17) Write a note on zeolites.

18) What are transition metals? Give example.

19) Give any two characteristics of ionie crystals.

20) Define half life period of a reaction.

21) What are promoters? Give example,

22) Write Schotten-Baumann reaction.

23) Write Gattermann reaction.

24) Identify A and B. Ethanoic acid __soc, A "saso, B

Part II1

2
WALED SUGRERSS .
a) acetyl salicylic acid b) benzoyl salicylic acid
¢) chlorobenzoic acid d) anthranilic acid
Part- 11
Answer any 6 questions Q.no. 24 is compulsory 6x2=17

Answer any 6 questions Q.No: 33 s compulsory. ' 6%3=18

25) Give the uses of helium,,

26) What is lanthanoid contraction and what are the effects af farthani 1¢

contraction?
27) In the complex, [Pt(NO,) (H,0) (NH,),18Br, Identify the following
i) Central metal atom/ion
i) Ligands
i) Coerdination number
28) .State Ostwald dilution law and derive its mathematical expression
29) Write the rate law for the following reactions _
a] A reaction that is 3/2 order in X and zefg orderin Y.
b] A reaction that is second order in NO and first order in Br,
30) Give the Gabriel Phthalimide synthesis of primary amines.
31) Give three differences betweer hormones and vitamins.
32) What are drugs? How are they classified?

38) lonic conductance. at infinite dilution of AI** and 50,2 are 189 and

160 mho cm? equiv-!. Calculate the equivalent and molar conductance of

the electrolyte Al, (S0,), at infinite dilution,

Part-1IVv
Answer all the Questions : 5x5=25
34) a) (i) Write any four refining methods of crude metal, [2]
(i) Write the uses of Aluminium. [3]
(OR) . :
) How potash alum is prepared and give their uses? [5]
35) a) (i) What is inert pair effect? (2]
(ii) Write Hume-Rothery rule for alloy formation. [3]
(OR)
b] (i) What are hydrate isomers? Give example. [3
~(ii) What are the limitations of Werner's Theory? [2
36) aj Differentiate crystalline solids and amorphous solids. [5])
(OR)
b] (i) Explain intermediate compound formation theory. [3]
(i) What is tyndall effect? [2]
37) a] (i) What are Lewis acids and bases? Give two examples for each. [3)
(ii), State Faraday's second law of electrolysis., ' [2]
~ (OR)
b] (i) Write the preparation of Acrolein. [2]
(if) How do you prepare ether by dehydration of alcohols? [3]
38) a] Explain aldol condensation mechanism with an example, [5]
| (OR)
b] (i) What is chloropicrin? How it is prepared and write its use? [3]
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COMMON FIRST REVISION TEST - 2023

Standard Xl Reg.No.:|0]4 |24 3/
, CHEMISTRY
Time: 3.00 hrs. Part - | ' Marks: 70
I. Choose the correct answer: 15x1=15
1. Wolframite ore is separated from tinstone by the process of
a) smelting b) calcination
c) roasting d) electromagnetic separation
2. Carbon atoms in fullerene with formula C_, have
a) sp® hybridised b) sp hybridised
¢) sp? hybridised d) partially sp? and partially’sp* hybridised
3. Which of the following is strongest acid among all?
a) Hi b) HF c) HBr - d) HCI
4. The transition element which has only +3 oxidation state is
a) Ni B) Mn c) Cr d) Sc
5. IUPAC name of the complex K,[AI(C,0,).] is :
a) potassium tri oxalato aluminium (I1l) b) potassium tri oxalato aluminate (l1)
c) potassium tris oxalato aluminate (Ill) _d) potassium tri oxalato aluminate (I11)
6. CsCl has bcec arrangement, its unit cell edge length is 400 pm, its inter atomic
distance is
: e
a) 400 pm b) 800 pm g) J3x100 pm d) [-i_] 400 pm
7. The rate constant of a reaction is 5.8 x.10% s™'. The order of the reaction is
a) first order b) zero'order c) second order - d) third order
8. The pH of an aqueous golution is zero. The solution is '
a) slightly acidic b). strongly acidic  c) neutral d) basic
9. Laptops have _ : '
a) Lead Storage battery b) Fuel cell
c) Mercury Button cell d) Lithium ion battery
10. Fog is colloidal solution of
a) solidingas b) gas in gas ¢) liquid in gas d) gas in liquid
11. On reacting with'neutral ferric chloride, phenol gives
a) red colour by violet colour
¢). dark green colour d) no colouration
12. Assertion : 2,2-dimethyl propanoic acid does not give HVZ reaction.

13

14

15

2
www . waytdsucces

Reason : 2,2—dimethyl propanoic acid does not have a-hydrogen atom

a) if both assertion and reason are true and reason is the correct explanation of
assertion

b) if both assertion and reason are true but reason is not the correct explanation
of assertion

c) Assertion is true but reason is false d) both assertion and reason are false

The product formed by the reaction an aldehyde with a primary amine

a) carboxylic acid b) aromatic acid  c) Schiff's base  d) ketone

Which of the following amino acids are achiral?

a) alanine b) leucine c) proline d) glycine

The medicinal value of a drug is measured in terms of its

a) deoxyribose b) gold number

therageutic index d) equilibrium constant .
.Org 1 wisteami@email com
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(2) X1l Chemistry
5 .5 2 Part - Il
. Answw any 6 questions. (Q.No.24 is compulsory) - 6x2=12

16 What are the imitations of Ellingham diagram?
17 What are the factors responsible for the anomaious behaviour of first element

of the p-block?
18. Why transition elements exhibit variable oxidation state?
19. Give any three characteristics of ionic crystals.
20. What are Lewis acid and bases? Give an example for each.
21. Convert glycerol to acrolein.
22. Give the tests for carboxylic acid gruup
23. How is terylene prepared? -

Na(Hg)/C.H. OH

; A CH, - CH, - NH,
24 |dentifyAand B : a[H]
Na(Hg)/C.H.OH
> CH, - NH - CH,
4[H]
Part - 1l ~
ll. Answer any 6 questions. (Q.No.33 is compulsory) - 6x3=18

25. Give the uses of helium. _ _ .
26. What are the difference between double salts.and ¢eérdination compounds?

27. What is meant by Electro Osmosis?
28. Explain pseudo first order reaction with an'example.
29. Explain common ion effect with example:
30. State Faraday's laws of electrolysis:
31. State any three advantages of food additives.
32. What are the difference between DNA and RNA?
33. Differentiate Primary, Secondary and Tertiary alcohols using Lucas test.
- Part-1IV
IV. Answer all the questions. 5%x5=25
34, a) ~Explain Froth floation process. (OR)
b) i) Whatis inert pair effect?
_ iy ~How will you prepare bleaching powder?
35. a) Whatis Lanthanoid contraction? And what are the :onsequences of
Lanthanoid contraction? (OR)
b) i)\~ Based on the VB theory, explain why [Ni(CN),]*is diamagnetic.
i) \.~What is crystal field splitting energy? ‘

36 &) & Write notes on Schottky and Frenkel effect. (OR)
B) i) Derive an expression for Ostwald's dilution law.
i)  What are the difference between order and molecularity?
37. @)+ Derive an expression for Nernst equation. (OR)
by What are the characteristics of catalyst?
38 ay Write the mechanism of aldol condensation reaction. (OR)
b) Write short notes on :
) Mustard oil reaction i) Gabriel phthalimide synthesis.

o
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Time: 3.00 hrs C_l'_l_EMIﬁL‘X ; ., Marks: 70
I. Answer all the questions. ' iy C 15x1=15
1) Wolframite ore Is separated from tinstone by the procéss of
a) Smelting 1 b) Calcqﬂatilc:'rlf ey
c) Roasting 5 dl}.l;ih?ctmrnag_rieﬂ:' Sllap_a ration
2) Phosgeneis ; 4 |
a) COCl, b) CNCI | c) NOCI _ d) SOCl,
3) In the .industrial preparation of ﬂl;{3,lwhilch of the following Is usefd to
increase the rate of attainment of equilibrium. . : '
a) K,0 and AlLO, . b) Na,0, and AlLO,
c) Ba0 and Fe,04 | d) CU,0 and AR,
4) The magnetic moment of Sc** ion is ~ Y
a)0 b}1.73 _ c)2.83 | d) 3.87
5) Which of the following is outer orbital complex.
; ‘a) [FeF.1* ' b) [Ti{(H,0)1** c)/[Fe(CN) ¥  d) [Fe(CN)]*-
6) Assertion : due to Frenkel defect, density of the crystalline sclid decreases
Reason : jn Frenkel defect cation and anlon ledves the crystal '
a) Both assertion and reason are true and reason is the correct explanation
of assertion Y

7)

8)

9)

10

b) Both assertion and reaSon are tru€ and reasion is not the correct
explanation of assertion

c) Assertion is true but reason is false
d) Both assertion and reason are false

If 75% of first order reaction was cbmplate;:l in 60 minutes, 50% of the same
reaction under the same ronditions would be completed in

a) 20 minutes b) 30 minutes c) 35 minutes d) ?S'm'l'nutes

Dissociation gonstant of NH,OH is 1.8x107% the hydrolysis constant of
NH,Cl would be

a)1.8x10-%9 b) 5.55x10-10 ¢) 5.55x107°5 d) 1.80%10-5
Among the following cells | "
I) Leclanche Cell I1) Nickel - Cadmium Cell

I1T) Lead Storage battery IV) Mercury Cell

Primary cells are

a) Tand 1V b) I and III c) Il and IV d) 11 and 111
EHT;'DHHE colloid where dispersion medium is solid and dispersed phase is
ligquid is :

a) Gel b) ermulsion c) Foam d) Solid Sol

11)

12)

wWwWw waytosucee

On reacting with neutral ferric chloride, phenol gives
a) red colour b) violet colour

€) dark green colour d) no colouration
| Which of the following represents the correct order of acidity in the given
compounds

a) FCH,COOH > CH,COOH > BrCH,COOH > CICH,COOH
b) FCH,COOH > CICH,COOH > BrCH,COOH > CH,COOH

€) CH,COOH > CICH,COOH > FCH,COOH  Br-CH,COOH

d) CICH,COOH > CH.CO :
4s.org sH00H > ?ECHZCDDH = ICHzC%eam@gmaﬂ.com
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13) Nitro begzgﬁé% '__qflﬂn_!ﬁﬂ INC;HNE}E‘in
one of the folloving produtts

T . SR Y |"1 e
21,4 -dinitro benzene, I 515 6) . 4, 6 eefiffd benzdra iy
€) 1, 2 - dinitro berizene © 1 AT d) 1, 3, - dinitro benzene

14) “In a protein, various aminn%:ids-' linked together by s e

a) Pepitide bond . . f b) Dative bond . ' | |

€) w-glycosidic bond | - . S d) B-glycosidic bond |
The pnlvrner-'pqed in making artificial woo| is

a) polystyrene b) PAN '

] VR BT
Eaie

SO, 4t:80-100°C forms which

s L I TR S T

15)

c) pnlyesté_r -1 d) polythene
Part-I1 :
IL. Answer any six of the following. Question num ber 20 is compulsary Sx2=12
16) What is aytg reduction? Give example. 4

the following Co-ordination cam pourids
(i) di ammine silver (§3)] dicyanido argentate (1) :

(i) Tetra carbonyl Nickel (0)
20) A solution of

i ic tond
1 tropine? How ie it prepared> v 3 Qf?ance
' 24) Complete the following reaction; . e
 CHNH, ; ot
Q““@%? et
Answer any six of the Part. 111 & e g
25) Explaifi th f““‘“"'""ﬂ-. Questign Mumber 29 i COMpulsopy:
o € Preparation of Boraxi{na.g it L 6x3=1g
) Cnmnlete'thefmlawing: : 9,5,0,) ]
I sOH S 5 + Hypo.
27) RR0.CI 4 i 77 HCL
28) E:m"f“ S Oxidising prope 19 !
29) --Shpoﬁlpu:hi I ke isomers by gy ;:;2 i b SRS
at in Case gf g X I'C|3 - 6H.0 - o
Eumpl Irst ﬂnjﬂr o 2 Al
l‘&acu:Em 'S nearly ten timeg th F"_E_attlﬁ__n, the time required for &
) Differentiage L _ COMpletion of th
31) What g Ty 15 26id ang Ly, base T e
32) What . Fow is jt Preparags 2 f
ozong| PeNs when the FQHUWIng 8l "
() Prop TNeS are subjecteq 1, réidiy
33) What are narcot] {”“‘Hultane ‘ . P ICtive
otic ang ON-narcg icd [“Q Isnh“t‘riﬁne (N
957 Give examples’ "
_ aF wisteam@gmail.com
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IV. Answer all the guestions:

34) a)
b]

c]

35) a)
b]

36) a]

b]

d]

37) a)

b]

d]

38) a]
b]

c)

www waytosuceess.org

Find out A, B, C for the following reactions

3
Part-1v '

5x5=25

Explain how Zr and Ti are refined by Van-Arkel method. (3)

How Alurr is prepared? (2)
(OR)

Write short notes on Allotrophic forms of sulphur. (5)

Describe the variable oxidation state of 3d series elements. (3)

Give one test to differentiate [CD{NH3j5Cl]504 and [CO(NH,):S50,1CI (2)
' (OR)
Explain Schottky defect. (3)

A solution of 0,10 m of a weak electrolyte is found to be dissociated to the
extent of 1.20% at 25°C. Find the dissociation constant of the acid (2)

Derive an expression for Nerast equation. (3)
Applying Kohlrausch's Law how will you calculate the molar conductance
of weak electrolyte at infinite dilution. (2)
(OR)
Explain the catalytic reaction by intermediate compound formation
theory. (3)
What is the difference between homogeénous and heterogenous
catalysis? (2)

A compound (A) with molecularformula C,H,N on acid hydrolysis gives
(B) which reacts with thionyl chioridé to give compound (C). Benzene
reacts with compound{C). in presence of anhy. Jllul(.".l3 to give compound
(D). Compound (D] on reduction with Zn/Hg and Conc.HCI gives (E).
ldentify (A), (B), (C), (D), (E). Write the equations. (3)
Identify the products formed when 1-methoxy propane is heated with
excess HI. Name the mechanism involved in the reaction. (2)

(OR)
(3)

> A
NCl — CH:@ OH
H —\@— NH,

Write short notes on Mustard oil reaction,

-~

> C
(2)

Explain the secondary structure of proteins,
Differentiate DNA and RNA,
(OR)
Explain the structure of fructose,
= i GIF

(3)
(<)

W PRUMmPR. M), £

M@= ¢ H&S,

frﬁferg,%$ i}iﬂj'f é;Ljuhp

i
—d

(5)
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